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Equilibrium Worksheet #1
(a)  Write the generic equilibrium expression for each of the following

(b)  Use the equilibrium concentration data to calculate the actual Keq for each reaction.



2 SO2 

+  O2     
  2 SO3




At Equilibrium 

0.10M

0.050M

0.025M
Keq =


N2
+
3 H2
(
2 NH3
At Equilibrium 

0.010M

0.050M

0.0050M


Keq =
H2
+
F2
(
2 HF

At Equilibrium 

3.31 x 10-4M
     4.22 x 10-5 M

2.60 x 10-4 M


Keq =

Consider the following reaction.




2 CO

+
O2
(
2 CO2
At Equilibrium 

1.50 x 10-2 M
    


 2.83 x 10-3 M

If the Keq value is 1.89 x 1020, what is the equilibrium concentration of oxygen?

